Chapter 9 Review
Secondary Math 3

Name

A oux

Date

7/
\

Solve for the third side length. Then write all six trig functions for the following

triangles.
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Label the sides of the triangles with a, b, c. Then label them with opposite,
hypotenuse, adjacent using <A.
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Evaluate the following using a calculator. Round to 2 decimal places. Make sure your
calculator is in degree mode.
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Fill in the blank with the correct ratio (opposite, hypotenuse, adjacen‘F)
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Find the measure of the angle x to the nearest degree.
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19. The angle of elevation from the base of a waterslide to the top is about 12°. The

slide extends horizontally (along the ground) about 52.2 meters. How tall is the slide?
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25. Solve the following triangle.
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26. Solve the following triangle. '
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